Name: Class:

Addition word problems:
Solve the simple addition word problems.

1) There are 4 red apples and 5 green apples in a tree. How
many apples are there on the tree in total?

4 +5H =

2) There are 4 lotus flowers in a pond. 4 more lotus flowers
bloom in the pond. How many flowers are in the pond
now?

4+ 4=

3) Thereare 7 stars in the sky. 3 more stars appear. How
many stars are shining now in the sky?

7+3=

4) The garden has 2 peacocks. 6 more peacocks join them.
How many peacocks are in the garden now?

2+6=
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